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SECTION A
v“"').
) \“g,u*’“ Answer ALL the questions in this section. ,
e
; o Marking Scheme Marks ,
N |
A, Name two minerals that occur as weathering products. 7,
. 4
=" §p Bauxit&/ore of aluminum D Cuukn
_._\_h.h;_l}, Mauu c/o /Kt[c l Il*](t e 5 ol
- \i, R - anganese 3.
&€ - Nickel,/” |
BH
ak (b) - Iron.,/ Any 2 x /— 2 marks)
i
State three uses of soda ash. O Raper e JJ of [= Ty - r' T
Glass makin P"&*P“"'ﬂr‘g 2 4 e j
Fixing dye!ii textile industries 9 '\re/cﬁ»ke & On lﬂjv-;/\ﬁy L oA
5 ) CRAN chlapowin® 1| A, o4
Softening water// WL LA\LMJ\/“"& 'r'('\,rv'\_/o\/ﬁ-{- / O Zennoling | i

G K

Oil refining /

=<k (a AR
‘l / '

7
r Z;: _ . / ' WAL KOR g
= : ' Manufacturing soap a# detergents / 6£. 28 v Q = (o “v p’a«_ L\ \
< Lol /\? Desulphurizing steel,/ - ) m"""‘“ﬁ) A A 2 :3: Wt
= &)~ / c
AT Name the hydro-electric power projects located in each of the .
/_'_' i }3/') following rivers in Africa. /
,-‘,\ (i)  River Zambezi — Karibadam/Cabora bassa dam. al (1 mark)
(i) River Volta — Akosombo*dam. / v ﬂb\, o&km o | (1 mark) | .
= ©

State three factors that have hindered the development of solar

/
%

High cost of purchasing/installation of solar panels/low purchasing

energy in Kenya.
Solar energy has low energy output.

The short life span of storage batteries

Competition from alternative sources.

power of people.

e

— Lnd {iﬂ{_.\ju)b« jb-* oA WA"‘&% \-/I

Any 3 x | = (3marks) -
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O | The map below shows wheat growing areas of Canada. Use it to answer question (a).
‘“‘”\-hﬁ — = : I'.I Hudson
: -y -. ©. Bay
L ake L

Athabasea

aE
OF
o
E Lake Winnipeg
~
{
Ontario
UsSA
(a) | Name the provinces marked G and H.
G — Saskatchewan / [ (1 mark)
H — Manitoba. / , 2’(1 mark)
e (b) | State three reasons for the increase in the price of maize in Kenya.

- 3 5
low maize product L A )mf v oo

JS\M - Adverse climate conditions/f)rolonged drought experienced leading to

: \ - F
‘,’Y - Prevalence of pesl ywon‘n l usts 1seases ,\,xuzk W '1{ ‘..J.\',-:bu.. Lu»b L{MJN/
'uuw :
\’/)C y

- ngh demand for maizg/fompetition for VMM‘ Aalerfﬁ

/
¥ manufacturing industries.
/

/&i’:')f/f - Arise in the cost ofinpt;tjéncrcased cosl ufproduclion/i wererseft Any3x 1 j( Mks)
w2

- Reduction in land acreage’/under which maize is pla?ed.
& - e ',L/‘ [

. YL AL TR b= ‘t )-1!.:..-5/
/‘\}z}vf O r‘t,‘é/{__ ¢ ‘M jv’w q\.&p--l.\,xw S5)  WARA2s 3
B e Tt A -
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4. (a)

ﬂ#ﬂ% J’i— vu-L i
N 5.(a) | Apart from pollution, name two other environmental hazards that

\

v

Explain the term visible trade.
The exchange of goods within a naiior/;/between countries%xport and
imports of goods.

State three economic benefits of Southern African Development
Community (SADC)

- Variety of oods a::e avatlab

its member states.

{:LL.L»—J}"‘ 59 /

- MovementAwltlun m e co tnes 1S easier

- A large market for,goods from member countries has been created.

Mbwbﬁ_ (‘.v«M\WL i/tl,u{»p«w 2 A

\\\r( L AAA Nnx\nuf

9%
(2 marks)

- A common tariff has been created. / v & vl fflr Ao wﬂm x 1= (3 mark

.

occur as a result of human activities.

— b fj_.;t_a Vi

State three effects of air pojlution on the physical environment.
Formation of acid leading to withering of plants.

There is excegs carbon dioxide leading to increase in

-

tcmperatures/deplct;oz of ozone layer.

- Reduction of oxygen in the atmosphere.

- Excess dust in the air inhibiting photosynthesis in plants.

- Desem'ﬁcation/ I/C/SL
Flooding Vi = j,\( \)\%L“h 4 /
Soil erosion / ot-l_,s—v\«d\,.n

Any 2 x 1 = (2 marks)

; Forest fires. / e = cﬁ'a/‘”\ Mﬂ& v
ey

Any 3 x 1 = (3marks)

o
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SECTION B

Answer question 6 and any other TWQO questions from this section.

No. Marking Scheme \ Marks \

6. | —Study the photograph below and use it to answer question (a). \

Teacher.co.ke

[T Ty

(a) (1) | What evidence in the photograph shows that it is a ground general

view type of photograph?
- The objects get progressivjysmaller towards the background./
of

- It focuses on al

- It captures the general vie the scenery. Any 2 x 1 = (2 marks)
%.bjects. -
™

Draw a rectangle 14 cm by 8 cm to represent the area of the

& photograph. On it, sketch and label the main features shown on the

photograph.

J FOOT PATH\/ v/
T»M»UL

Rectangle — | mark
Ridge — | mark
Rail tracks/Arain— | mark

Poles — 1 mark
Trees/grass — | mark
Fence — | mark

Cultivated area/maize/ banana/maize~ 1 mark s —| wed
¢ oy )L,,p._.«,._,.{fhﬁ”‘_ ' — \ mad Ciimm—-lmﬁ-
A [uu‘d Lo Lwanl: Total (6 markS_ )

oAl gy b "
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AE( el X S /““ ¢ R0 Co s T rr &1 (u(’c’j :
p— L"-_,\-,'\,\ _,\(-...\ ']‘lr‘“ f , M;' //‘\[ A ‘1 //'itjj( 4 & Sl e 4 I/) 5\?
Mg b e el et g el
= by ¥ R s = _f..h.__l,.;‘t f_& i f._.{ Jh\- L'u Lf { (fo=¥ ’
} | Na. 2 arking Scheme f “Marks
o o '_‘:Lr A "..\x. LA )2 Lol LS o

L)

N Y :

vy \Ag 0
] Ly e

Explain four measures that "African couniries would take to solve the

problems associated with railway traw
: Standan\ii/wion of the railway gaugéfo ease connection between

them fastet/efficient.

__\l.. com'tmesfrcduce transshipment costs. /ﬂ

" wv’ - Through the African union, ewsh peace missions/improve |
S > relations to reduce vandalism l
o \”“!;" \ :}.;? Jomnt venture in railway const Y rcg:onal countries to make I
€ o t& “‘_}\:. the overhead expenditure low%pwmg/counvy by country \
,_-,; "\“‘I R “k_J“ development. | | ‘/M | |

ﬁ-’ - Improvement, of existing railway'lines/trains with an aim of making

Any4x 2= (8 marks)
HAax viwma L
~—

L 4

o L : :,:f, Y 4 A 1-% - Egc02ge ux of ﬂectmc Dtﬁa m/gl ordE r to r?duce CEQI}T}&}:’/ ft;i@" 1

WY
& J\ib’
258

>¢"J/ Some of the rivers have floating vegetation

'\,qh water/seasonal regimeg/low volume of water.
.
i

State five reasons why there has been lfnr ted use of river transport|
in Africa.
Some of the rivers have l'apld

waterfa

Some of the rivers experience fluctuation in volumes of

Some rivers are shoryshallow/swift.

Some rivers are affected by siltation

A//ﬁ-/ st e

African countries have insufficient capltal for development of river

Y transport.

ge

There is madcquate

--S_,ow

Wogylé(develo

= M\{-"’\ﬂ_

WW"V

ey &

m
qu“ va-:

5‘\—(:-' vbl,/“""

T _ g
b &

o ¥
Sl

G

; B
An j =
_My X lagamarks)

Give four ways in which the use of mobile pho has contnbuu@ to

economy of Kenya.

It has provided security on mghey transferg/savings.
It has eased money tr, sfers through Mpesa/online banking,
It provides ycnuéé: the government through taxation.

It offers job opportunities to Kenyans
It has made it easy for traders to bu sell goods online.
It has made communication casy

It has made lending/borrowing of money casy/convenient.

Any 4 x 1 = (4 marks)

o q’)ww[» & \}A-«/JA W et “&

@
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7.(a)

- Gentle slop fu dulating land.
ngh rainfalf/1200 — 1500 mm per annum, »

Marks

Give four physical conditions that favour sugarcane growing in the

Lake Vicforia basin, / /
- Deep well drained soils/plack cotton

brf
High tempefres// M

Wty
L 45

=
&

A }) AP 51.)(.\;

R(v "N =

/)]

B\~

[k‘\j/ Lok v’\’.L/,r‘. o

/ L 3 '-’—;.} & -—(:.. 4

= ) &

2o — 3% C

—

[ YV
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g
a

factory.

- The cane is recei\y and wci_g!_led;\//

The cane is washed and opped

1fito pieces;

- The pieces are crushed to extract the juice;

- The juice is put frﬁ?aﬁﬂers to filter off the impurities; /

- The juice is bg_i_l_e_:d to evaporate the water;

The juice is further stirred in large tanks to ;/10“: crys:ta_ll_i_zition,t/’

- The crystals are separated from rnolasse

- The sugar is bleached wh1 n; /
- Sugar is then dne 7cooled, graded weighed and packed.

b

.; \ \‘}' \\S d f ] t / &{" / [(Y,L/)/ W:" } ~ .‘} LA A
. | ¥ - unl‘l Con l n Qr Sucgrose accumu aton 5 l —
\k (b) (1) Descnbe the stages lnvo“'ed m the pro&ss’ng of sugarcane at the %

Any 6 x 1 = (6 marks)

Apart from sugar, give three other products obtained from

- Cane juice /
-  Molasses {/

- Filter calfeffilter mud.

sugarcane:

- Jaggery
- Bagasse

9

Any 3 x | = (3 marks)

Explain three causes of the decline of sugar cane production in

Kenya, C

- Crop diversification,with farmers venturing into other crops has

reduced acreage.

growing/planting-erops-that-are-drought resistant.

. - L J d
Climatic changeg/prolonged drought has made large scale ke b s tm_,..:

()r‘"lm-"h"\" /‘“‘
= |
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- mﬂh\.p\y\_g,

‘-‘-‘\l w—

S
.
J 1

™
\u\‘lf afn-t'-

«-at.«n\\,- »ol)a-

- CA w

f-.JM'.a
v/

(‘3‘» [ Uik ‘-.\r‘ Y \{I b ™ LB . /,)“l# Ll"*“' (I/”‘hv'\“t*‘h‘o —
: Lo\\ p cho ct‘cd

lhe cane farmers by the factories has
discouraged t’armc rvow| groxving suQanL \/é
ce Iirxmng the

LA,
C‘ompctmo%wers demand for local Sug

L /p"i’occssmg of the sugamane)

3 x 2 = (6 marks)

-
*X U
\L Y\“‘ o
s»"b

" Explain three ways in which the Kenya government is promoting the
(3

r industry, w
o by

Establishment of Kenya Sugar Board to advice on production
marketing of sugar. A %’

Restricting sugar imports'to protect farmers from the flooding of the

|
o

market with cheap sugar. / A

Establishing a V?me for small scale out growers. £» ~oAf “w @
Enforcing laws to protect the farmers from explmtatloﬁ{y middle
men, %J \/,

Financing research for hi yie]ding;ne. .

- y‘%\cost of sugarcane producnon]ﬁ"'
Vvl

Subsidizing farm inputs’to !ow

ai mgsu fi

1) A A

s
Sx*? = f

:’i"}?% 5 |

Mmedmg financial assistance to

:
Vg

P
o b
: & +a 'wQU\-D Se ol ) VS
(1) It is the cultivation of vegetables{fruits/flowers for sal%)mmercial
purposes. 13 (2 marks)
(i) | Outline five characteristics of horticultural farming in Kenya.

The farms are usually small;
The farms are located near well-established transport routes leading

/ ilized;

The land is intensivel
It is labour intensive

-

to urban areas;

It requires heayy capci%vcsmlent;
The produce is mark orien(ed/ Q4P e Q2 &_QJL&Q
= Produce output is high;

The farms are scientifically ma
I §r = Aunl 2 Yy -l?

u.u&fﬂsh/J

:z_

Any 5 x | = (5 marks)
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(®) (1)

Give four physical factors that favour horticultural farming in

Kenya, /
- Hot PZ»é'iimate favours the growth of tropical crops; /

CooMvet climate in the highlands favours the growth of temperate
‘ /

crops; p

/sa:ﬁf wa Sl

- Well drained volcanic

- Availability of water{/ oy } W
and/undulating.

jT

- Relatively gentle sloping

¥y
e

X

v

S
S oy R
£

Any 4 x 1 = (4 marks)

f"

/e

ol ey

(11)

r'r».,

> 13 f“ft{» "WwH

Explain three challenges that horticultural farmers experience in

marketing their produce:

- Impassable roads during the rainy season/poor roads make it difficult
for perishable goods to reach the market on tiwljjsses to the
farmers;

- Inadequate/poor refrigeration facilities lead to rotting/lowering
quality leading to losses/wastage;

- Fluctuation of prices in the world market discourages farmers;

- Stringent quality standards required at the international market
increases cost of productidn thus lowering profits

- Poor marketing strategies lead to reliance on middle men who

%/

- The high cost of transporting produce by air lowers profit margin.
M,ﬂ’}Mw\( é‘L—L.m ( 7 ..»"'LL/WL' v—b
D M

exploit farmers;

YA

0

Wi ‘p—_JL///“él ‘x"\c"‘""g

%wzgfﬁ”v*

»3\?"&@,?&

Any 3 x 2 = (6 marks)
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(©) | You intend to carry out a field study in a nearby horticultural farm.

(1) | Apart from flowers, identify the other two types of crops you are
') likely to find in the farm.

Lw«/_}l L-o ULh-L«"j /MQ‘A‘;’ J!
- Frui / s 5 T i ONEA M o) s et
- Vegetable kb[-m / e’*“’ /fi“"’ 07/“;::‘5::: lajgmarks)/

¥ prod W)“‘liﬁm

Corr<k / Cm.\.bqf_mu
Give two sources of information that y
— 5‘“")"’ Sy f feup’h Gt
/ - ]

(mla]

Teacher.co.ke

(11) | - Resourcg persons/farmers/agricultural officers.

N ——

- Journals/magazines/relevant textbooks / A3 2 pen
- Maps /
= umenta:}es//;/l,M/ ) | Any2x 1= (2 marks)

_J. 1A
(1i1) Stste four factors that have contributed to fast growth of flower

farming sub sector in Ke

- Rise in local deman P}: ﬂowers!may
greenhouses ensuring high quality flower

Increased investmen
y j [ w

products.
(AV - Low cost of production of flowersompared to other crops/
- Increased international demand due to high quality of Kenyan

Iz flowers.
W = Sh;jtb from growing traditional cash cropsy; are less proﬁtabie/ Anyd4x1=(4 {mﬂmi’r
v o § ' —
L/ "’(?, [divd" t/u-“"'ﬂ L‘-—r - cuw'blf“‘) Y

WA AL

JIJ[’;L{ i-b EK—;M V‘Lku\,\()v ._)/S—v aybml_u—«t

e |

"-‘4-'\)‘-_:-_}- Lng" %) VoA G\Q’r&“ % Libge v"/
‘ B

5

—— ————

" ""”“ ' Va4 K\Iu s L\‘-._.t_h,-‘“—q Qru'q')r’o.
1 LV’ .E f‘VUél 1%” M- i Mﬂ“’?ﬂ\mf—eﬁﬁ ) A~ Q)*ﬂ& . l‘( wAlide
1 K \‘T'«w V- t,\/\, / qm(‘t}.l}{,&- si L P,--'{NLL.Q
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(1) | Describe the drift method of fishing.

Nets are hang vertically in wa T,

They are attached to a dnﬁer jﬁ f / - {—Q_._ui s nolls
They are kept afloat by floats¥on the’upper side; — ﬁ'dl. :

The lower side is held by welghts = wﬂdb
Several nets can be joined together to form a fleet of ne f o b
Fish swim through the nets and get trapped by the gills’ due to small pit

mesh; E/

The nets are dragged to’the shore;

The fish are removea/:rq om the n¢ts(and sol CD
k/ ﬁ:r more catch.

The nets are then returned backto the se

6 x 1 = (6 marks)

Teacher.co.ke
: Mnrﬂiﬁg Scheme Marks
9 (a) | Differentiate between pelagic and demersal fish.
(1) Pelagic fish mainly live near the surface or in shallow waters
Iakcs/sca/oc::?%, while demersal are fish that live close to the bottom of
water bodies/deep waters. 2
(2 marks)
- h;&c,.ﬁ,
- etkmche b

(b) Explain four reasons why there is widespread fresh water fishing in

East Africa.

Thert;?several water bodies/rivers/ponds/lakes that host a variety
of fis

Inland fishing grounds allow use of low technolog tradmoualmxh P

methods as most fishing grounds are shallow/most fishermen den:t
% :
havefl?ophlsncaled instruments. / /"

High population around the fishing grounds offer marke‘h'for the fjs.h.
//

v

Fresh water fish provide an alternative source of cheap proteiny

! i Jﬁ- b LIJ - I\ _S"/\.. L

hich are exploited /
High demand for fresh water fish Which are easily a J lable ,_,..u,u ‘& wWANJ l\“ S R_;
{ ¥ L4 L\ \I--. '...L,'-‘i

b"-b“f |7 Ty (e
e \‘

h.a

v
it
)
P i
(\A
s N 11
YR
.4 Q/‘
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[T Ty

Japan has read\ market for [isllboth lgcally and
LAY

intgfnationally while in
Kenya, the Iocakmarkel for fish 1s relatively sma‘%:ew people eat ﬁs%
. Technolng\\

Japan has advanced technology leading to efficient fishing in deep water,

)

while Kenya has low technology leading to concentration of fishing

along the shores. vﬂ

J State the significance of fishing to the economy of Kenya.

(11) =

Fishing provides ﬁyhich is a source of income to the fishermen;
Fishing creates job"6pportunities.
Fishing stimulates growth of other related industrie§/fish provides

raw materials for industries.

Taxation of fishing activities bring revenue to the government.

)

Teacher.co.ke
] ~ Marking Scheme Marks
Explain how each of the following factors influence fishing in Kenya
and Japan,
* Market

(2 marks)

2 marks)
( )

o ———— -

- —

Fish products are expoﬁe?ﬂémaemﬂpmﬁehmg-whyeh eams foreign

exchange. /
aﬁ communication networks/{,.\,.

Has led to development of transpo

::)‘PE\}O '(fvﬁ/(: SewAs _ﬁ
ey @ewlis R wa I/

Ly tﬂ-i%%‘?’“’“’.

'

=

G

3 - \ =
J\) k‘.}% SV 3 ‘Q-N“
) Ao \\,\\\R)M

o 2X

)
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10.(a) | Name two types of settlement patterns found in rural arcas.
(M - Nucleated/clustered. (2 marks)
- Scatte dispcrscd. o
- Linean/ i »
. &-‘-_MU//AL& ¥ :;,.-f'xnhp‘-d -
State five factors that have contributed to the emergence of slums in
(1) | urban centres.
£ - Some urban dwellers earn low income/are unemployed.
= - There is shortage of house§/affordable houses.
e : E
(_' - A3 Sompe people haveayhnndoqm purchasing power. / w\_uﬂ}zi.a—‘.z, w dpub:&
‘}‘:\ai\;" - ¢ high cost of larid/houses in other parts of town.
3?\“’_” "“u:l \m,“é"‘ - “There is poor urban planning. 6 .
5, "L\&“‘Eﬂ-ﬁlé § L‘> There is high rate of migratiort'to towns. (Any 5x1=5 Marks)
3 o ] '
e Ut
- S jb,,L": (®) Explain four fun /ég Eldoret town.
P W \;ﬁ":“ - Educational centr - lt home of several educational
M e 1 umt on wersmcsfcoﬁges/mlytechngs) »‘.Ns.qJ(’j
= Indus entré — It has(Several manufac processmé Wﬁ»\).@/
industries/co &l /cooperative creamenes
- Recreat}on cenh‘%mce there are several hotel S golf course
&ce treis TSN oL o e
/f‘ ; £ ‘t\% ha ;ommj trade in all commercial
A‘_ 5o N LU"L e &W‘?L'—*O . -,f', 4
::i-.-" e L\f\./\_: = (4 I &
o \,?} - Transpory centre — It ha§ a railway statiog{/iffiérnational airpoft/ro
s S L4 ¥ e a ~ \' -
’,\ U_p"{;),af Y Cuncuon Ko 28 P L»v-ﬂ vk ’L""ﬁﬂf‘s
v R | o - Adm1mstra centre — it is the headquarters 9‘{ Glshu c
:) |I .—-z-'...l.’- i ] dréwv-) W _‘{ - fb Mo " \(\&U_— (_M
7? K ’A/J-,( Uﬁq M—Lﬂb A (awb-(——-
Tx"l,»\ W .'3}*'? FEPLY 2 M@V“(JU\AL—“- QJ// Fé* EN
" i ]
.)ij "‘;(:\ = Levaanmins Ce Lt kv 1A (- S \sn VeASVA C#“’-‘t?t)
; s/ ,Jv}r‘(w 0/ e Y dus - & g ¢ \_‘,k-\L b »
) e o L 1 LAl | -
~ B k‘l' A G 'tl, NS AN UL VN \--' Sl
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No. Marking Scheme Marks

N "'Q!
«'\:“ | ,4&‘ State four factors that led to the'growth of New York city. = Pr-u !
,\“T R \‘ § : '%ﬁhvmy b}/\f %) V/
& - Open cosmopolitan attitude of New York people. - (| sy fa i /
APV A o o ¢ f . - WAL A Al 27
o g N W"% Economic boost after the war between United States of Amenﬁa adl. Lol bhowbylon /
- 5}."“ \\ Ax o o s Vi «k.i._n b2ind e A .-‘rd‘\'
' o and Britain. .
e v - ’\ ‘1/ . 'U'JM*V;\._!‘D -
.\ s of - Excellent sea port'that is cenctyy located. - Hubi M. Lt }
1P _gxit AN 32 - Navigable inland water route?'via ?é’l—!udson River. wl Pe fi’” L“}j:: & . / oAl
S TRV o SRV Sy A,
g‘ ,',.‘\- T \ J - There was an expansion of markel after construction of the (h;g\?)__ sle, 3 ] = A
= \-:‘ % . : f} L "\ ~
~ AR Canal which connected Hudson Riyer to the great lakes. « L~ / . S
o ’%I\. \3\' u "’(V!i."'\—‘-*«i & A "'-'W‘\_,é‘._ %—Ar-'{ 'V'fi L
—_ 'i]\ ~| Xp? - There wcn:;&nges in technology leading to more development. Any 4 x 1 = (4 marks|
E )T Q h L)) Explain three measures that have been taken to reduce motor
'-, {'\L vehicle traffic congestion in Najrobi city. .kfmqnvi‘%’{(?aj\j. L\_sjfrd” <

- Dcf;yﬁcm of traffic police/traffic marshalls/wéo control traffic

\ v&fﬁ flo ilring peak hours> M\
*r\* 4 }._@ Constructiopof by-passeS/the expressway to link roads easing

v

)\y@afﬁc flow in the Central Business District (CBD). :
’ (. - *—"“-ﬂ-‘ ""‘:’j’ W

Introduction of commuter rail transpory'to réduce the number of

@
into dual carriage easing movement/allowing
f;) 0‘8%_\__ \N'/'y} - more vehicles to ﬂow.x @)
r‘j‘bv \~q é 4 gl Hiking parking charges in the CBD urrounding areas hence
S[).,WH discouraging use of person:l/rﬁklicles %
;)_I)L - Decentralization of services’away from Central Business District to
satellite towns reducing movement into the city. ¢ : Any 3 x 2 = (6 marks)
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